

# WELCOME To EXCELLENT MARKETING

www. excellent marketing. live







**Entry Fees** 

Rs.300/-









#### **BUSINESS INCOME PLAN**





## SILVER AUTO POOL



Round	Member	Income	Upgrade	Rebirth Id	Profit
1	2	400	300	0	100
2	4	1,200	1,000	0	200
3	8	8,000	5,000	5	1,650
4	16	80,000	60,000	15	15,950





### **BUSINESS INCOME PLAN**





## 2 GOLD BOOSTING



Round	Member	Income	Upgrade	Rebirth Id	Sponcer Income	Awards & Rewards	Profit
1	4	2,40,000	60,000	60	5,000	5,000	1,53,800





#### **TYPES OF INCOME**





Entry Fees

- Rs.200

**Rs.300** 

**Direct Income** 

**Auto Pool** 

Rs.40

**Level Income** 

Rs.30

**Team Spil Over Income** -

Rs.30



# **LEVEL INCOME**

LEVEL	BONUS	MEMBER	TOTAL INCOME
1	3	4	12
2	3	16	48
3	3	64	192
4	3	256	768
5	3	1,024	3,072
6	3	4,096	12,288
7	3	16,384	49,152
8	3	65,536	1,96,608
9	3	2,62,144	7,86,432
10	3	10,48,576	31,45,728
TOTAL	30	13,98,100	41,94,300







## **TEAM SPIL OVER INCOME**





LEVEL	BONUS	MEMBER	TOTAL INCOME
1	5	4	20
2	5	16	80
3	5	64	320
4	5	256	1,280
5	5	1,024	5,120
6	5	4,096	20,480
TOTAL	30	5,460	27,300



#### **TERMS AND CONDITIONS**

444

- Tds 15%.
- **15 Days once payout (1,15)**
- Minimum withdrawal Rs.100/- (One Time Per Day).
- 10 Direct referral compulsory for withdrawal.
- One mobile number unlimited id's.











# **THANK YOU**

We're Here To Assist You

- → Website

  www.excellentmarketing.live
- Email Address support@excellentmarketing.live